THREERLAR LAEHER (F18) KREMETENRERR

B3 —1
EmIIE4 A1 H~SMxTE A30H
RIERT4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETA & #B(N) BHHEN) BHHE(N)
BEHTEREMN 1,723 790 0 0 45.9 45.9
el 1,723 790 0 0 45.9 45.9
b A RER 91 38 0 0 41.8 41.8
R HET 64 28 0 0 43.8 43.8
4 R ET 4 2 0 0 50.0 50.0
ZE@AF 9 4 0 0 44.4 44.4
A% 4 T 14 4 0 0 28.6 28.6
shRTER R 1,755 849 0 0 48.4 48.4
shETTH 1,155 539 0 0 46.7 46.7
2R 187 97 0 0 51.9 51.9
E)TH 181 90 0 0 49.7 49.7
75 B EH 12 5 0 0 41.7 41.7
e iy ET 65 44 0 0 67.7 67.7
KESHT 40 16 0 0 40.0 40.0
HELEF 47 20 0 0 42.6 42.6
Hr AJNET 68 38 0 0 55.9 55.9
I\FEH&REm 1,578 744 0 0 47.1 47.1
J\PTh 1,578 744 471 471
=R A RER 511 231 0 0 45.2 45.2
BULHEHT 208 93 0 0 44.7 44.7
= FH 35 17 0 0 48.6 48.6
R FHT 72 31 0 0 43.1 43.1
HFHT 21 9 0 0 429 429
FE BRET 90 42 0 0 46.7 46.7
B _E BT 79 36 0 0 45.6 45.6
AT 6 3 0 0 50.0 50.0
E AT R EFR 592 271 0 0 45.8 45.8
HFRIRET 278 133 0 0 47.8 478
DhSH 146 62 0 0 42.5 425
84 iR ET 24 12 0 0 50.0 50.0
R T 29 15 0 0 51.7 51.7
5 FH T 67 26 0 0 38.8 38.8
th ;R ET 48 23 0 0 47.9 479
LE+=FEF 1,166 565 0 0 48.5 48.5
+FBAH 380 188 0 0 49.5 49.5
=R 371 179 0 0 48.2 48.2
87100 th BT 57 26 0 0 45.6 45.6
asy=1:]] 72 27 0 0 37.5 375
JNFHT 82 41 0 0 50.0 50.0
1 JECHT 20 9 0 0 45.0 45.0
5di) 107 55 0 0 51.4 51.4
7Ny AT 77 40 0 0 51.9 51.9
ODOBREAT 444 187 0 0 42.1 42.1
G Y] 371 156 0 0 42.0 420
yNEilil) 28 5 0 0 17.9 17.9
BB 36 18 0 0 50.0 50.0
R EHM 4 4 0 0 100.0 100.0
{EH4 5 4 0 0 80.0 80.0
&t 7,860 3,675 0 0 46.8 46.8




THREERLABR LATHER (F28) REMETENRERR

EH3—2
EmIIE4 A1 H~SMxTE A30H
RIERT4 e e
Kogmiks [N20TEE 500 (5o en (BLADT> [BLAD T
HETAE | EH(AN) EH(N)
BEHTEREMN 1,984 1,053 0 0 53.1 53.1
el 1,984 1,053 0 0 53.1 53.1
b A RER 107 63 0 0 58.9 58.9
R HET 59 26 0 0 441 441
4 R ET 4 4 0 0 100.0 100.0
ZE@AF 20 20 0 0 100.0 100.0
A% 4 T 24 13 0 0 54.2 54.2
shRTER R 1,989 1,335 0 0 67.1 67.1
shETTH 1,217 809 0 0 66.5 66.5
2R 228 130 0 0 57.0 57.0
ETH 227 179 0 0 78.9 78.9
75 B EH 16 15 0 0 93.8 93.8
g W3R FET 118 78 0 0 66.1 66.1
KESHT 35 25 0 0 71.4 71.4
HELEF 67 44 0 0 65.7 65.7
R HNET 81 55 0 0 67.9 67.9
I\FEH&REm 1,761 1,034 0 0 58.7 58.7
J\PTh 1,761 1,034 0 0 58.7 58.7
=R A RER 601 349 0 1 58.1 58.2
BULHEHT 211 118 0 0 55.9 55.9
= FH 51 27 0 0 52.9 52.9
R FHT 111 59 0 1 53.2 54.1
HFHT 24 18 0 0 75.0 75.0
FE BRET 108 57 0 0 52.8 52.8
B _E BT 86 65 0 0 75.6 75.6
AT 10 5 0 0 50.0 50.0
E AT R EFR 718 451 0 0 62.8 62.8
HFRIRET 328 233 0 0 71.0 71.0
DhSH 180 99 0 0 55.0 55.0
84 iR ET 38 27 0 0 71.1 71.1
AT 27 13 0 0 48.1 481
5 FH T 91 47 0 0 51.6 51.6
th ;R ET 54 32 0 0 59.3 59.3
LE+=FEF 1,307 779 0 0 59.6 59.6
+FBAH 445 250 0 0 56.2 56.2
=R 377 234 0 0 62.1 62.1
87100 th BT 84 38 0 0 45.2 45.2
asy=1:]] 88 62 0 0 70.5 70.5
JNFHT 98 59 0 0 60.2 60.2
1 JECHT 17 10 0 0 58.8 58.8
5di) 131 100 0 0 76.3 76.3
7Ny AT 67 26 0 0 38.8 38.8
ODOBREAT 501 303 0 0 60.5 60.5
G Y] 419 241 0 0 57.5 57.5
yNEilil) 34 30 0 0 88.2 88.2
BB 38 23 0 0 60.5 60.5
R EHM 9 9 0 0 100.0 100.0
{EH4 1 0 0 0 0.0 0.0
&t 8,968 5,367 0 1 59.8 59.9




